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QUESTION 1

She was ___________ success and eager to create a name for herself. 

A. deprecatory toward 

B. impatient for 

C. querulous about 

D. sated by 

E. impassive to 

Correct Answer: B 

 

QUESTION 2

It is ironic and somehow tragic that good people are often dull while evil people can be endlessly. 

A. ordinary 

B. stubborn 

C. skeptical 

D. fascinating 

E. unobtrusive 

Correct Answer: D 

The word "ironic" signifies a contradiction of ideas within the sentence, and the conjunction "while" 

indicates that the characteristics of the good people and the evil people are being contrasted. Therefore, if 

the good people are often dull, the evil people must be having a characteristic which is the opposite of 

being dull. 

Among the given choices, it is only the word fascinating that is opposite in meaning to the world dull. So, 

"fascinating" is the answer. 

 

QUESTION 3

Passage 1 "It is obvious that the legal driving age in the United States needs to be adjusted. Although the driving age
has been sixteen for many years, studies show that kids of such a young age are not yet capable of understanding the
deep responsibility that comes with operating a motor vehicle. Sixteen-year-olds, while old enough to see R-rated
movies, are still children in many ways. Psychologists agree that people of this age do not have the cognitive awareness
to make major life decisions, yet operating a vehicle on the road forces them to do just that. If the driving age were to be
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raised to eighteen, there would be far fewer accidents and casualties on the American roadways. People must
understand that sixteen-year-old drivers are a danger to themselves and others when allowed to drive unsupervised." 

Passage 2 "The legal driving age in the United States has remained the same for many years for one primary reason: it
is fair and reasonable. While young, sixteen-year-olds are certainly old enough to undertake the responsibility of driving
alone. Because these teenagers are made to practice for a year with a learner\\'s permit and then to pass a test proving
their skills, there is no reason to suggest that they cannot handle a motor vehicle effectively. Those that assume that
sixteen is too young to drive often forget to consider the large number of responsibilities teenagers already handle on a
day-to-day basis in today\\'s world. Things like homework, after-school activities, family responsibilities, and social
events all must be carefully maintained in order to make life work. If a sixteen-year-old can handle these daily
responsibilities, they can certainly handle driving a car. The legal driving age is fair and should not be negotiated, now or
ever." 

Which statement best evaluates the author\\'s point of view in the second passage? 

A. It would be best to lower the legal driving age. 

B. The best age at which a person can drive should be decided on a case-by-case basis. 

C. The current legal driving age is adequate. 

D. It would be best to raise the legal driving age. 

Correct Answer: C 

 

QUESTION 4

Which of these may be inferred from the passage? 

"The $100 Bill" Samantha pedaled quickly, glancing down at her watch as often as her balance would allow. The
clock\\'s face read 10:57, sending a spike of panic shooting up her spine. She bent further over her bike, willing her legs
to go faster. She screeched to a stop in front of a large restaurant bearing a bright blue, neon sign, her ears ringing,
sweat breaking out on her skin. She hurriedly locked her bike to the lone pole positioned in front of the building, before
pushing her way through the heavy glass front doors. "You\\'re late." Samantha stopped short, turning to face her boss.
She was greeted with a stern face, her boss\\' lips a thin line. She shook her head in apology. "I\\'m sorry, Paul. My
bike\\'s tires were flat, and I forgot my I.D. badge, so I had to turn back ?"Paul held up his hand, cutting her off. "Just
don\\'t let it happen again." Samantha threw her hair into a ponytail, hoping her shift would prove more successful as the
day wore on. She nearly ran to her first table of the day, plastered a smile on her face, and greeted her first customers
of the day. She responded to their questions politely, though her mind was still occupied by Paul\\'s disappointed
expression as she ran in the door. Despite her initial mistakes, Samantha worked hard to remain chipper and upbeat,
answering her customers\\' questions to the best of her ability, forcing herself to smile when her eyes began to glaze
over with tears. As her first customers left, she caught the eye of the elderly gentleman with the group. He winked, and
walked through the doors. Confused, Samantha began to gather the dishes from the table and there, staring up at her,
was a crisp $100 bill. She let a tear roll down her cheek. Her day had just gotten better. 

A. Paul was responsible for Samantha\\'s tire trouble. 

B. Samantha\\'s job is a big part of her financial stability. 

C. The gentleman who left the tip was a friend of Samantha\\'s. 

D. Samantha\\'s trouble at work stemmed entirely from Paul. 

Correct Answer: B 
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QUESTION 5

Using the graph, choose the answer that best depicts California\\'s budgetary priorities. 

A. California prioritizes spending for health care above all other categories. 

B. California prioritizes spending for health care above most other categories. 

C. California finds transportation to be the least important budgetary item. 

D. California\\'s budgetary allotments show that health care and pensions are equally important. 

Correct Answer: A 
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